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1. (a) Use this incomplete 6’s row of the times table grid to complete

12 24 30 48 60

× 2 3 4 5 6 7 8 9 10

6

(i) 30÷ 6 = .............. (ii) 84÷ 6 = ..............

(b) Use this incomplete 85’s row of the times table grid to complete

170 340 425 680 850

× 2 3 4 5 6 7 8 9 10

85

(i) 340÷ 85 = .............. (ii) 1700÷ 85 = ..............
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2. (a) Use this incomplete 6’s row of the times table grid to complete

12 24 30 48 60

× 2 3 4 5 6 7 8 9 10

6

(i) 48÷ 6 = .............. (ii) 4800÷ 6 = ..............

(b) Use this incomplete 27’s row of the times table grid to complete

54 108 135 216 270

× 2 3 4 5 6 7 8 9 10

27

(i) 108÷ 27 = .............. (ii) 405÷ 27 = ..............
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3. (a) Use this incomplete 6’s row of the times table grid to complete

12 24 30 48 60

× 2 3 4 5 6 7 8 9 10

6

(i) 24÷ 6 = .............. (ii) 108÷ 6 = ..............

(b) Use this incomplete 38’s row of the times table grid to complete

76 152 190 304 380

× 2 3 4 5 6 7 8 9 10

38

(i) 304÷ 38 = .............. (ii) 19000÷ 38 = ..............
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4. (a) Use this incomplete 7’s row of the times table grid to complete

14 28 35 56 70

× 2 3 4 5 6 7 8 9 10

7

(i) 56÷ 7 = .............. (ii) 560÷ 7 = ..............

(b) Use this incomplete 94’s row of the times table grid to complete

188 376 470 752 940

× 2 3 4 5 6 7 8 9 10

94

(i) 376÷ 94 = .............. (ii) 1692÷ 94 = ..............
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Answers

1. (a) (i) 5, (ii) 14

(b) (i) 4, (ii) 20

2. (a) (i) 8, (ii) 800

(b) (i) 4, (ii) 15

3. (a) (i) 4, (ii) 18

(b) (i) 8, (ii) 500

4. (a) (i) 8, (ii) 80

(b) (i) 4, (ii) 18

cbna givenDIVsign (7) SRS Learning Limited


